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Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct, fill that circle in front of that question
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What is the power rating of a lamp connected to a 12'V source when it carries 2. 5 A current :

o O 18§ A L 2 G Fenl SIrsrini 1Ay
The number of Vibrations of a Vibrating Body in one second is called (1)
Velocity (s (D) Frequency oHEj () Amplitude 324 (B) Time Period éﬁ("k (a)
Sound Travels from its source to your ear by : > o - f) Lbdnig 251 (2)
Vibration in Wire or Strings < A (,( ¢} | st (B) Changes in Air Pressure c.—;:d/& KRS & (A)
Infrared Waves by § gy 42151 (D) Electromagnetic Waves = g J;{:.@-p:}gl (©)
e Panenls (R) /ST m () 5253 (3)
The correct relation between the Focal Length (f) and Radius of Curvature (R) is :
' f= R/3 (D) f=R/2 (C) £=2R (B) f=R (A)
0T o 2B o e ASkin s 30 B8 (@)
In Total Internal Reflection, entire light is reflected back into :
Some other Medium #* £4~ c_/»oj (B) Rarer Medium (£ it A
Denser Medium (% 4 (D) Medium with smaller Refractive Index = g{izé_l:‘fgﬁlé-rﬂxi_:f © |
The Coulomb's Law is valid for charges which are : D oee Uiy Ui6 ¥ A (5)
Moving and Point Charges & ng.:ﬁlgé_ytz.f:f/ (A)
Stationary and Point Charges a{:" ’i./l;&l_;'d( - (C) Moving and Big Charges 2.“‘{ z;gz.;fw_zanz_/w (B)
Stationary and Large Size Charges a‘_f 2l et Jv (D)
360 Mj (D) 36 MJ (C) 3-6x10°] (B) 3%6x10° ] (A) . 1KWh = (6)
| L WL oI S R e § AL g | ()
The direction of Induced e.m.f. in a Circuit is in accordance with the law of Conservation of :
Mass oLy £ Fuf § UL (B) Energy I Lods £ Fa § G (A)
Momentum W LuHct? § 5 (D) Charge  Abluds £ i S tu (©)
x = A+B is Boolean Expression for : ‘ ' ’ Iq—c'/ﬂﬁdg:! x = A+B | 8
NOT Gate </t (D) NAND Gate oJ% (C) NOR Gate .t (B) OR Gate 0T (A)
VW ot e LI LS iy L 2 A K LT ey () |
The set of instructions and rules to design and use information §ystem is called : -
Procedure .§3 % (D) People i/t (C) Data K} (B) Hardware 7si/ (A)
Atomic Mass Number (A) is equal to number of : i ebw 4le (A) Aagul (10) ,
Electrons L sbdifwi 291 (D) Neutro; Lofute (©) Nucleons £ s ¥ (B) Protons Lol g sy (A)
Unit of Intensity Level of Sound is : Doy el g Ll (11) ’
Hertz  #; (D) ms 1 4K (©dB  JS (B) wm 2 Kirden (A) X
e 258 ekt AV U S Al Letrayr L12V] (12) ﬂ

W (D) 25W (C 20W (B) 14:5W (A):
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part [1. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 !Make Diagram where necessary. -le'/.up‘ugnduf"utg, (Part 1) JJW

iDefine Time Period and Frequency. ~2;.‘fu:é')/‘." g u’&:..f/’ 2l éf:(lt‘ (i) 24w
! -Z.-I:-’l’)"’ Ay g #2-c 0+4m m’%: »# 4 Hz v‘-‘,f/ J 'z 6nafud‘.byﬁ ‘_,S.d.u (i)

{Wave moves on a Slinky with frequency of 4 Hz and Wavelength of 0+ 4 m, What is the speed of

the Wave?

What is meant by Compression and Rarefaction? ?é_)l/l_f e pSas Ry b G yaaS (i)

{ Define Pitch and Quality of Sound. IS O S w v

IWhat is the Audible Frequency Range for Human Ear? Vuggf 340 Ju”";g/ (,5/ fﬂﬂ/cjkxﬁl? 2L u(du'l v)

What is meant by Critical Angle? 5'4.)‘/(;( =K S S (vi)

I Define Snell's Law and write its formula. _’4’6 Ussb 51 el 2‘54/‘7 J o2 é:‘),:;.w (vii)
Differentiate between Concave Mirror and Convex Mirror. <£."-/L')_L:: J/ R e S 55 ) o 9855 (viii)
Define Electromotive Force. Write its formula. & Y ¥ J!-Z':;_éf/‘." Jwvuéxfij\f&gi (i) 3/.01:’
{Write the names of two Non - Ohmic Materials. -é‘_‘r‘%t Z J"/'-fui:::lut 2 (ii)

|State Joule's Law. -2?-1-)&: UriEy J;Z (iii)

What is M.R.L? fe ' MRL (iv)

What is Transformer ? fe. Y (v)

Write down Truth Table and Circuit Diagram of AND Gate. -’4‘.”0(!/1'5‘:& 2] J':;;;/” J bff«gi (vi)

Define Analogue Quantities with example. ESsJens s st i)

What are Logic Operations ? Write their names. - (‘tﬂcﬂ S e d&{{ﬁ.‘qﬂ (viii)
Define Electric Potential and write its formula. ,é,“.’g Urss 61 st ’Zf..gl/‘.’. JWJ_; SESH (i) 4/1‘Ui/

& e 5§ 12 £ s i)

[Write the two characteristics of Capacitors connected in Parallel Combination.

Define Electric Field. “Ew s § WD G
What is meant by Electronic Mail ? Write its two advantages. J4’J L9 5 Ly ?4.:!/@]/ & J@:’!}?! (iv)
What are the Browsers ? S Utdn L:'/ iy ()

-é;:’ﬂrt[, AT L Puigy e § AT (i)

{Define Isotopes. Also write the names of the Isotopes of Hydrogen.

The force of repulsion between two identical positive charges is 0«8 N, when the charges are

What are the Tracers ? Write their two uses. O Y L o § gl W A2 (vii)

{Define Half Life. ' g § Sy (i)
18=2x9 (Part Il } fo2

]
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s State the characteristic of sound " Loudness ". Also describe the factors' on which it depends.

Vo e e g I 26 £ 0 im e w2 e 008N U S O s £ 2k digidl v (L)

© s

0+1m apart. Find the value of each charge.
1(a) el e f 0Ud  Seen g S SeKae bl s £ Ky ¢ colp U e KU (D 641
5 What is Solenoid ? Explain the Magnetic Field and direction of Magnetic Field produced in the

| Solenoid.

) cdny S e NG JeieZ§gn § 7 Sen § B L ez 20em = 4P ()

i
{

An object and its image in a concave mirror are of the same height, yet inverted, when the

| object is 20 em from the mirror. What is the Focal Length of the Mirror?

(@) et § 0S8t -2 G gt JE () 74U
Define Natural Radioactivity. Describe three properties of Beta Particle.

5) Wt oG AT 2 2 e s T 22 105 A e Foloife 10V ABPHOAL A L ()
By applying a potential difference of 10V across a conductor, a current of 1-5 A passes

through it. How much energy would be obtained from the current in 2 minutes? S
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Value of Intensity for faintest Audible Sound is : - Gn ‘_,:m.buf I Tesbe b5 ol L 1/._{);,,
owm? 0 10%wWn! (© 10%wWm? @) 102 wm? (4 Q)
S.I. Unit of Capacitance is : Do SLE S s (2) |
' Volt 24 (D) Farad  3iF (C) Ampere  ,ieyl (B) Ohm (Wi
Electric Power is defined as : : .:‘;.JEJ LA g u&.f/’-gl (3)
PR (D Qv (@ cv (B IR (A)
Release of Energy by the Sun is due to : ; .;.Bx Lo S e L (4)
Burning of Gases c.,,?:L(iL/":r (B} Nuclear Fission aj_ﬁig”)"fx' {A)
Chemical Reaction {.Mﬁuﬁgfo’aﬁ‘{ (D) Nuclear Fusion 2L ik A (C)
ICT stands for : - i ICT (5)
International Computer Technology J:’W}Jﬁﬁl

Information and Communication Technology Jﬂbcgf"’%fylf/w
Indian Computer Technology J:’LLAJ 41 (D) Information and Lomputer Technology J:‘U-’"}:Jylww

(B)
If X=A+B then'X"' is '1' when ;: ; /dn{ 1" Jd'x' 7 x= /f (6)

A=1,B=0 (D) A=0,B=1 (QA=0,B=0 (B) A=1,5=1 (A)

The presence of Magnetic Field can be detected by a : - g:_Cclg_@E’J = K J)ﬁr‘ Jlu&,.ia (7
Stationary Positive Charge L/_lgﬁ/,:’ufb {B) Small Mass = J\LoZ (A)
Magnetic Compass & di_{u@g (D) Stationary Negative Charge (-,/w%fv (<)

O < eaipis £ o L ine Bt 2edb n § YK 8)

The property of a substance , which offers opposition to the flow of current through it is called

Power uL( ) Electromotive Force u#ys91 (C) Resistance o (B )} Capacitance J‘fu’j‘j (A)
B/f u“f fd}? uy/)éotwu;’»w-c‘_ t“{b/:.,cﬁ Jz 5 i&d_bé_,gd/ua'__.l;bg 'y &u’lg[_ 10C ».{f {9)

5 Joules of work is needed to shift 10 C of charge from one place to another, the Potential Difference

between the places is : 5v (D) 0.5 v (@ 10V (B 2V (A)
Focal Length for Diverging Lens is : ; « dn E‘@J)’ 2L H bl (10)

+2 (D) Positive i/ (C) Zero J (B) Negative #F (A)

The loudness of a sound is most closely related to its : - A Soli¥ S Ee (11)
Amplitude 3 ¢ % (D) Wavelength  ; 45 3 (C) Period ¢ 4/ (B) Frequency 5/ (A)

ba¥ oy § prmuid e/ VE kS S e A 2)

If the Mass of the Bob of a Pendulum is increased by a factor of 3, the period of the Pendulum's

Motion will

Remains same nguf/ J/(jf (B) Be incr_eased by a factor of 2 b’L@m‘f. tﬁ:-(A)

Be decreased by a factor of 4 fa.l_pn{ Lf/,lg (D) Be decreased by a factor of 2 lfé._lgn(l'f» (Q)
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. -w’&ffﬁdn/“’% (Part 1) J’W

iDefine Wave Motion. -2:(.4//7 J u’r,g; {H 2/:0!;/
iProve that : v = fX : (J“'/..::«:E‘ (ii)

! Define Electromagnetic Waves. -é-e,//"; J)y_} NS L GPIPRCTAT N

Seln & dr s Lo 2w LS (ke § Bl (iv)
Write the formula for Speed of Sound and what is the Speed of Sound in Air?

1

!What is meant by Quality of Sound? &:_)f/g & O J e (v)
! Describe the conditions for Total Internal Reflection, -éug w7 J\')S&...lé)d})ﬁ\ Js¥ (vi)
fState the Laws of Refraction. -éut:. L L u:{// (vii)

iDefine the following terms applied to a Lens: ~2’.’-:~..y/7 J o ber g,f_')bu Sl m it /.{ {viii)
; Optical Centre AUT (B) Principal Axis oS4l fewi (A)
Sy SLE 4B IS g Lt () 3

Define the term " Potential Difference ", Also write its S.I. Unit.
Describe Ohm Law. Also write its formula. -E.:f_/f. Lf{ U € JL-z"’:C)_[ﬁ PP (i)

L fodl a9 5 o b g § il ot sy JT AP S sy 9 Gy
:}'Deﬁne Electric Power. If you know the values of Voltage and Current, how will you find Electric Power ?
4State Lenz's Law, ‘,:Ci"/u'lf BrlY Kj;..' (iv)
& ke ¥ AL LT er Wb S8 S L sl )

IState Right Hand Grip Rule to find the direction of magnetic field around current carrying Conductor.

i

:Write the Truth Table of AND Operation. - J’:;f;/' (él ‘ﬁ{T AND (vi)
{Which are Three Universal Logic Gates!Write their names. ~2f:i/f?b£u1 g urc.u/u'itéu Sk (vii)

:Draw the Circuit Diagram of NOT Gate. -k (U@U‘»y// §edet (viii)

i Define Electrostatic Induction. -é;‘fq._n//Y Jﬂb‘hﬂh;ﬂ‘ (i) 4/1‘Uly
Vbt B nyeer by Point Charge ? e ety i)
{Electric Field Intensity is a Vector Quantity, why ? ¢ U ..;_/’ﬁf/b.r; LT it D S (i)

{What is Telecommunication ? e I 5 panS A5 (iv)

{What is meant by Internet? Sty Ve L2 (v)

(For what purpose Browsers are used ? ?ujLT r{ L// Jrisle (Vi)

{What is meant by Background Radiations? Sl Vo }‘zldé/ﬁilfug (vii)
Describe Medical Treatment of Radioisotopes. e ¥ R T J/::/'J-(./Jg {viii)
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Define Loudness. On which factors, does the loudness of sound depends ? Explain.
6) e bb16x100C 0 lpdlg 4t w85 L1 G b e £ I00UC L ¥ ik 4 b 280 5 (L)
The charge of how many negatively charged particles would be equal to 100 YC ?Assume charge

on one negatively charged particle is equal to 1+6 x 10 19C .

) S 28 3 S SO St (U 6, U
Differentiate between Analogue and Digital Electronics and give examples.
u%g u((‘y:f-g. 46 cm E@U{i J 2 et S (}ju dl:é_fc:.()'i_nc_‘{ < Jeb £ 66 cm éLl/Z‘_..! //u'fyﬁg ()

©) g

A Convex Mirror is used to reflect light from an object placed 66 cm infront of the mirrot.

The Focal Length of the Mirror is 46 cm. Find the location of the iinage. )

@) S U Uz L s 9 g § A Ly 7
Define Nuclear Transmutation and write general equations for Alpha, Beta and Gamma Decay.

(5) S P d AL a2 st T p) 105 A et Ul e 10V ui/'ﬁ‘_}"f; SIA L P ()
By applying a Potential Difference of 10 V across a conductor, a current of 1+5 A passes

through it. How much energy would be obtained from the. current in 2 minutes?

et Rt g L i
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